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Code No.  : SS – 10 –  ECON. 
 

 

mPp ek/; fed i j h{kk , 2019 
SENIOR SECONDARY EXAMINATION , 2019 

 

vFkZ' kkL=k 
ECONOMICS 

 

 
Time :  3 Hours 15 Minutes             Maximum Marks :   80 
 
 

i j h{kkfFkZ; ksa ds fy; s l kekU;  funsZ' k 
General Instructions to the Examinees :  

 

 i j h{kkFkhZ l oZi zFke vi us i z' u i z=k i j  ukekad vfuok; Zr % fy[ ksaA 
Candidate must Write His / Her Roll No. on the Question Paper Compulsorily . 
 

 l Hkh i z' u vufok; Z gSaA  
       All Questions are Compulsory . 
  

 i zR; sd i z' u dk mÙkj  nh xbZ mÙkj  i qfLr dk esa gh fy[ ksaA 
Write the Answer to each question in the given answer-book only 

  

 ft u i z' uksa esa vkUr fj d [ k.M gS] mu l Hkh ds mÙkj  , d l kFk gh fy[ ksaA   For  the  Questions  having  more 
than One Part , the answer to those Parts are to be Writen together in Continuity . 

  

 i z' u i =k ds fgUnh , oa vaxzst h : i kUr j  esa fdl h i zdkj  dh =kqfV @ vUr j  @ foj ks/kkHkkl  gksus i j  fgUnh Hkk kk ds 

i z' u dks gh l gh ekusA   If there is any Error / Difference / Contradiction in Hindi and English Versions of 
the Question Paper , the Question of Hindi Version should be Treated Valid .  

  

 ; g i z' u i =k pkj  [ k.M+ksa esa foHkDr  gS  :  A , B , C  r Fkk  D . 
This Question Paper Contains  FOUR Sections   :  A , B , C and  D  
. 

                     Section              Q. Nos.      Marks Per Question         Word / Page Limit of Answerr 
 

  A  1  –  10        1    10  Words 
 

  B  11  –  18       2    20  Words 
 

  C  19  –  27       4    30 – 40  Words 
 

  D  28  –  30       6    250 – 300  Words 
 

 i z' u l a[ ; k 28  l s  30  esa vi Ur fj d fodYi  gSA       
             Q. Nos. 28  to  30  have Internal Choices . . 
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SECTION – A    ([ k.M – A) 
 

Q 1. vFkZ' kkL=k dh fdl  ' kk[ kk esa ge O; fDr xr  bdkbZ dk v/; ; u dj r s gS \  

In  which  Branch  of  Economics  do  we study of Individual  Unit ?    

            [ 1 Mark ] 
 

Ans. l w{ke vFkZ' kkL=k esa ge O; fDr xr  bdkbZ dk v/; ; u dj r s gSA  

In  Micro  Economics , we  study  of  Individual  Unit . 
 

Q 2. mRi knu l EHkkouk oØ D; k gS \       

What is the  Production  Posibility  Curve  (PPC)  ?       
           [ 1 Mark ] 

 

Ans. , d  mRi knu&l aHkkouk  oØ  og  gksr k  gS  t ks  nks  oLr qvkas  dh  mu  l Hkh  mRi knu&l aHkkoukvkas  dks  fn[ kkr k  gS  ft Ugas  , d 

vFkZO; oLFkk  } kj k  fn,   gq,   l k/kukas  , oa  i zkS| ksfxdh  ds  fn,   gq,   gksus  i j   i zkIr   fd; k  t k  l dr k  gSA  l a{ksi   esa]  ; g  p; u 

l a; ksxkas dks cr kr k gSA 

Production Possibility Curve (PPC) graphically represents the various possibilities of production of two 

commodities  which  can  be  produced  with  the  given  Resources  and  given  State  of  Technology  , 

assuming that the Resources are Fully Employed , Fully Utilized and Efficiently used . 

 

Q 3. vFkZO; oLFkk l s D; k r kRi ; Z gS \    

What  is  meant  by  an  Economy ?    

             [ 1 Mark ] 
 

Ans. vFkZO; oLFkk dk vFkZ fdl h ns' k dk og l kekft d] j kt uSfr d o vkfFkZd l axBu] <kapk] l j apuk ; k cukoV l s gksr k gSA 

Economy  is  the  Country’s  Social , Political  and  Economic Organ’s  afterend  Structure , wherein 

Performing  Economic  Activities in a Legal Way . 

 

Q 4. Ykkxr  dk vFkZ fyf[ k; sA   

 Write the meaning of Cost ,          
           [ 1 Mark ] 

 

Ans. QeZ  vi us  mRi kn  ; k  fuxZr   dks  r S; kj   dj us  eas  i z; qDr   vkxr ksa  i j   t ks  dqN  Hkh  O; ;   dj r h  gS]  ml s  gh  vFkZ' kkL=k  esa 

ykxr sa dgk t kr k gSA 

Total Expenses , Incurred by a Firm in Producing a Commodity , Service and Output . 

 

Q 5. mRi knu l s D; k vk' k;  gS \   

 What is meant by Production ?           
           [ 1 Mark ] 

 

Ans. mi ; ksfxr k dk l t̀ u gh mRi knu gSA  
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The  Creation  of  Utility  is  called  Production . 

 

Q 6. ckt kj  dks i fj Hkkf"kr  dhft ; sA   

Define Market .            

            [ 1 Mark ] 
 

Ans. ckt kj   ' kCn  l s  vfHki zk; %  ml   l eLr   {ks=k  l s  gS  t gk¡  oLr q  ds  Øsr k  , oa  foØsr k  i j Li j   fdl h  fuf' pr   dher   i j   , oa 

fuf' pr  l e;  i j  ml  oLr q dks [ kj hnus , oa cspus ds fy; s r Ri j  gksr s gSaA 

Market refers to that Complete Area in which there is a Close Contact (Personal or By any Means of 

Communication, such as Phone , Telex , Fax, e-mail, etc.) . 

 

Q 7. nks e/; or hZ oLr qvksa ds uke fyf[ k; sA     

Write the Name of Two Intermediate Goods .        
           [ 1 Mark ] 

 

Ans. xsgw¡ , oa di kl    

Wheat  and  Cotton . 

 

Q 8. oLr q fofue;  i z.kkyh ; s D; k vfHki zk;  gS \   

What is meant by Barter System ?         
           [ 1 Mark ] 

 

Ans. oLr q fofue;  i z.kkyh l s vfHki zk; % eqnzk ds fcuk oLr q vkSj  l sokvksa ds i zR; {k fofue;  vFkok vknku&i znku dj us l s gSA 

A  System  wherein ,  Goods  are  Exchanged  for  Goods . 

 

Q 9. j k"Vªh;  vk;  l s vki  D; k l e>r s gS \   

What  do  you  understand  by  “National  Income” ?       
           [ 1 Mark ] 

 

Ans. fdl h  ns' k  es  , d  o"kZ  dh  vof/k  es  mRi kfnr   l eLr   vafr e  oLr qvks  r Fkk  l sokvks  ds  ckt kj   ewY;   dk  ; ksx  j k"Vªh;   vk;  

dgykr k gSA ml es fons' kks l s i zkIr  ' kq)  l k/ku vk;  Hkh ' kkfey gksr h gSA 

The  Total  Amount  of  Income  Acquiring  to  a  Country  from  the  Economic Activities (Including 

Foreign Incomes for Net Sources)  in  a  year’s  time  is  known  as   National  Income . 

 

Q 10. yksdr kfU=kd O; oLFkk esa l j dkj  ct V fdl ds l e{k i zLr qr  dj r h gS \  

In  a  Democratic System ,  before  whom  does  the  Government  presents  the  Budget . 

           [ 1 Mark ] 

Ans. yksdr kfU=kd O; oLFkk esa l j dkj  l al n ds l e{k ct V i zLr qr  dj r h gSA 

In  a  Democratic System , the  Government  presents  the  Budget  before  the “Legislature” . 
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SECTION – B    ([ k.M – B) 

 

Q 11. vkfFkZd fo' ys"k.k dh fdl h nks ekU; r kvksa dks l a{ksi  esa l e>kb; sA 

Explain  briefly  any  TWO  Assumptions  of  Economic  Analysis .     

           [ 2 Marks ] 
 

Ans. vkfFkZd fo' ys"k.k dh nks ekU; r k, sa gSS % 

o vU;  ckr as l eku j gasA 

o vkfFkZd bdkbZ dh foosd' khyr k 

Two  Assumptions  of  Economic  Analysis  are  : 

o Other  Things  Remains  the  Same . 

o Rationality  of  the  Economic  Unit .  

 

Q 12. r VLFkr k ekufp=k cukb; sA    

Draw an Indifference Map .         

            [ 2 Marks ] 
 

Ans.   
                                                               

 
 

Q 13. , dkf/kdkj kRed i zfr ; ksfxr k dks i fj Hkkf"kr  dhft ; sA 

Define  the  Monopolistic  Competition .         [ 2 Marks ] 

Ans. i zks-  pSEcj fyu  ds  vuql kj   %  Þ, dkf/kdkj kRed  i zfr ; ksfxr k  dh  /kkj .kk  vFkZ' kkL=k  dh  i j Ei j kxr   fopkj /kkj k  gS  vkSj  

O; fDr xr   dher ksa  dh  ; k  r ks  i zfr ; ksfxr k  ds  vUr xZr   ; k  , dkf/kdkj   ds  vUr xZr   O; k[ ; k  dh  t kr h  gSA  i j Ur q  bl ds 

foi fj r  esj s fopkj  esa vf/kdka' k vkfFkZd voLFkk, ¡ i zfr ; ksfxr k vkSj  , dkf/kdkj  dk feJ.k gksr h gSAÞ 

Monopolistic  Competition  Market  refers  to that Market form , in  which  there are many producers of  

a  Commodity  which  produces Close Substitute Goods and there is Free Entrance and Exit of Firms 

in the Market .  
 
 

Y

XO
IC1

IC2

IC3

IC4
Units
of y

Units of x
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Q 14. l dy ?kj syw mRi kn D; k gS \  ckt kj  dher  i j  l dy ?kj syw mRi kn dh x.kuk dk l w=k fyf[ k; sA 

What is Gross Domestic Product (GDP) ? Write the Formula to Calculate Gross Domestic Product at 

Market Price .            [ 2 Marks ] 
 

Ans. , d  ns' k dh  ?kj syw  l hek ds  vUr xZr   , d  o"kZ  esa  mRi kfnr   l eLr   vafr e  oLr qvksa  o  l sokvksa  ds  ckt kj   ewY; ksa  ds  ; ksx  dks 

l dy ?kj syw mRi kn dgk t kr k gSA 

   GDPMP = C  +  I  +  G  +  (X – M) 

  ; gk¡] GDPMP  =  ckt kj  dher  i j  l dy ?kj syw mRi kn 
  

  C      =  mi HkksDr k oLr q, ¡ o l sok, ¡  ( 

  I       =  l dy fut h ?kj syw fuos' k ( 

   G      =  l j dkj  } kj k mRi kfnr  vFkok [ kj hnh xbZ oLr q, ¡ o l sok, ¡  

  (X – M)     =  ' kq)  fu; kZr  ¼fu; kZr  – vk; kr ½ 
 

Gross Domestic Product at Market Price is the Sum of Market Value of all Final Goods and Services 

produced inside the Domestic Territory of a Country by all the Producers, during an Accounting Year . 

   GDPMP  =  C  +  I  +  G  +  (X – M) 
 

  Here GDPMP  =  Gross Domestic Product at Market Price   
 

  C      = Consumption Expenditure 
 

  I       = Investment Expenditure 
 

  G      = Government Expenditure 
 

  (X – M)     = Net Exports 

 

Q 15. vk;  dh nf̀"V esa] j k"Vªh;  vk;  dh x.kuk esa vkus okyh nks dfBukb; k¡ cr kb; sA 

In your View , Mention any Two Difficulties in the Measurement of National Income .  

            [ 2 Marks ] 

Ans. vk;  dh nf̀"V esa] j k"Vªh;  vk;  dh x.kuk esa vkus okyh nks dfBukb; k¡ gS % 

o Lo; a ds j kst xkj  l s i zkIr  vk;  dh x.kuk dfBu dk; Z gSA . 

o i qj kuh ] vUr fj e o e/; or hZ oLr qvksa ds ewY; kadu dh dfBukb; k¡ 

Two Difficulties in the Measurement of National Income : 

o It is very Difficult to Calculate Income from Self Employment . 

o Problem related to the Evaluation of Old Interim and Intermediate Goods . 

 

Q 16. l exz ek¡x l s vki  D; k l e>r s gSS \      

What do you understand by Aggregate Demand ?       
           [ 2 Marks ] 

Ans. , d  fn,   gq,   vk;   o  j kst xkj   ds  Lr j   i j   , d  l ky  esa  vFkZO; oLFkk  esa  t ks  oLr qvkas  vkSj   l sokvksa  dh  ek¡x  dh  t kr h  gS 

ml s l exz ek¡x dgr s gSA  l exz ek¡x , d vFkZO; oLFkk esa l exz [ kpsZ ds cj kcj  gksr h gSA  

l exz ek¡x   =  C + I + G + N.E. 



` ____________________________________________________Page 6 
 

; gk¡  C = mi Hkksx [ kpsZ 

  I = fofu; ksx [ kpsZ 

  G = l j dkj h [ kpZ  

  N.E. = ' kq)  fu; kZr  
 

Aggregate Demand is the Total Demand of all Final Goods and Services by all the Consumers of the 

Economy at given Price Level . 

 Aggregate Demand  (A.D.)  =  C + I + G + N.E. 
Here  C = Private Consumption 

  I = Private Investment 

  G = Government Expenditure 

  N.E. = Net Exports 

 

Q 17. ?kkVs dk ct V l s D; k vfHki zk;  gS \  l e>kb; sA     

 What is meant by Deficit Budget ? Explain .        
           [ 2 Marks ] 

 

Ans. t c l j dkj  dh ct V i zkfIr ; k¡ ct V Hkqxr ku l s de gks r c og ?kkVs dk ct V dgykr k gSA  

Budget Deficit refers to a Situation when Budget Expenditures of the Government are Greater than the 

Budget Receipts . 

 

Q 18. udnfoghu ysu-nsu ds fdUgha nks ek/; eksa dk mYys[ k dhft ; sA 

Mention any TWO Modes of Cashless Transactions .      [ 2 Marks ] 
 

Ans. udnfoghu ysu-nsu ds nks ek/; e gS %  

Two Modes of Cashless Transactions are : 

o bUVj usV cSafdax  ( Internet  Bankiing ) 

o Eksckby , I  ( Mobile App ) 
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SECTION – C    ([ k.M – C) 

Q 19. r VLFkr k oØ dh fdUgha nks fo' ks"kr kvksa dks j s[ kkfp=kksa dh l gk; r k l s l e>kb; sA 

Explain any TWO Features of Indifference Curve with the help of Diagrams .   

            [ 4 Marks ] 
Ans.   

(i) r VLFkr k  oØ  dk  <ky  _ .kkRed  gksr k  gS – ; s  ck, a  l s  nka,   uhps  dh  vksj   >qds  gq,   gSA  vxj   mi HkksDr k  dks 

l eku  l ar qf"V  ds  Lr j   i j   j guk  gS  r ks  fdl h  , d  oLr q  dh  ek=kk  dks  ?kVkus  i j   gh  og  vU;   oLr q  ds  mi Hkksx 

dks c<+k l dr k gSA r VLFkr k oØ u r ks {kSfr t  l j y  j s[ kk] u gh yEcor ~ l j y  j s[ kk vkSj  u gh /kukRed <ky 

okys gksr s gSA  

                                      
 

fp=k  eas A fcUnq OX1  -  X oLr q  dh  ek=kk  o OY1  -  Y oLr q  dh  ek=kk  ds  l a; ksx  dks  cr kr k  gS  t cfd B fcUnq 

OX2  -  X oLr q dh ek=kk o OY1-  Y oLr q dh ek=kk ds l a; ksx dks cr kr k gS vxj  A fcUnq l s l wfpr  caMy dks 

B fcUnq l s l wfpr  caMy dh r qyuk dj sa r ks ge i k, axs fd B fcUnq ds mi yC/k gksus i j  mi HkksDr k B fcUnq } kj k 

fn[ kk; s  x; s  caMy  dk  p; u  dj sxkA  D; kasfd  ; gka  ml s X oLr q  dh  ek=kk A fcUnq  } kj k  fn[ kk; s  x; s  caMy  l s 

T; knk feyr h gSA  

 

(ii) r VLFkr k  oØ  ewy  fcUnq  ds  mUuÙkksnj   gksr s  gS – r VLFkr k  oØ dh  ; g  fo' ks"kr k]  ?kVd  i zfr LFkki u  dh  âkl eku 

l hekUr  nj  ds dkj .k gksr h gSA  
 

                                  
 

mi j ksDr   fp=kkuql kj  X oLr q  dh 2 bdkbZ  ek=kk  i zkIr   dj us  ds fy,  Y oLr q dh AB ek=kk dk  i fj R; kx dj uk 

i M+r k  gSA X oLr q  dh 3 bdkbZ  ek=kk  i zkIr   dj us ds  fy,  Y oLr q  dh BC ek=kk  dk  i fj R; kx  dj uk  i M+r k  gSA 

t Sl s&t Sl s mi HkksDr k ds i kl  X oLr q dh vf/kd ek=kk gksr h t kr h gS oSl s&oSl s mi HkksDr k Y oLr q dks NksM+us dh 

ek=kk de dj r k gSA ; g ?kVr h gqbZ l hekUr  i zfr LFkki u dh nj  ds dkj .k gksr k gSA 

Y

XO x x1

A

B
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Y
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(i) Indifference Curves are Negative Sloping :  
 Indifference curves are always slopes downwards to the right or negative sloping, because if 

consumer increases units of one commodity, then to maintain the same level of satisfaction 

consumer has to decrease the units of another commodity. So as the units of X is increased 

then  units  of  Y  has  to  be  decreased  and  vice-versa.  Due  to  this  negative  relationship 

indifference  curves  are  downward  sloping  .  As    in    the    present    diagram    as    consumer  

moves  from  A to  B  the  combination changes  from OX + OY  to OX1 + OY1. While moving 

from A to B, units of X is increased and units of Y is decreased . 
 

                                                                                 
 

 Slope of indifference curve will never be horizontal, vertical or upward sloping because in all 

these  three  cases,  the  basic feature  of   indifference  curve,  i.e.,  same level  of  satisfaction  is 

derived at different points along the same indifference curve, is neglected . 

 

 (ii) Indifference Curves are Convex towards the Origin  :   
 

 Indifference  curves  are  convex  towards  the  origin  because  marginal  rate  of  substitution 

continously  decreases  (because  as  the  stock  of  one  commodity  decreases  its  marginal 

importance for the consumer will continously increases and as the stock of another commodity 

increases its marginal importance for the consumer will continously decreases, therefore he is 

ready to sacrifice lesser and lesser units of one commodity for the every extra unit of another 

commodity to maintain the same level of satisfaction). 
 

                                                           
 

 As shown in the diagram when consumer increases one unit of X commodity he decreases Y 

commodity  equal  to  PQ,  whereas  for  next  unit  of  X  commodity  he  decreases  Y  commodity 

equal to QR. As we can see that PQ > QR, it represents that MRSxy is decreasing and due to 

that indifference curve will become convex towards the origin . 
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Q 20. fuEufyf[ kr  l aedksa l s vkSl r  vkxe , oa l hekUr  vkxe dk vkadyu dhft ; s % 

Calculate :  Average Revenue and Marginal Revenue from the following given data : 
 

 

Total Sales (In Units) 

dqy fcØh  (bdkbZ esa) 

 

1 
 

2 
 

3 
 

4 

 

Total Revenue  (In `) 

dqy vkxe  (: i ; s esa) 

 

20 

 

36 

 

48 

 

56 

 

[ 4 Marks ] 
Ans.  

 

Average Revenue  (AR) 

vkSl r  vkxe 

 

20 
 

18 
 

16 
 

14 

 

Marginal Revenue  (MR) 

l hekUr  vkxe 

 

20 

 

16 

 

12 

 

8 

  

 

Q 21. i w.kZ i zfr ; ksfxr k ckt kj  l s D; k vfHki zk;  gS \  i w.kZ i zfr ; ksxh ckt kj  esa QeZ dk vkSl r  vkxe oØ cukb; sA 

What  is  meant  by  Perfect  Competitive  Market  ?  Draw  an  Average  Revenue  (AR)  Curve  in  Perfect 

Competitive Market .          

            [ 4 Marks ] 
 

Ans. ckt kj   dk  og  Lo: i   ft l eas  Øsr kvksa  o  foØsr kvksa  dh  vR; kf/kd  l a[ ; k  gksus  ds  dkj .k  oLr q  fo' ks"k  dh  dher   dks  dksbZ 

Hkh  QeZ  i zHkkfor   ugha  dj   l dr h  gSA  i w.kZ  i zfr ; ksfxr k  ckt kj   esa  oLr q  dh  dher   dk  fu/kkZj .k  m| ksx  } kj k  nh  i wfr Z  r Fkk 

ek¡x  ds  l kE;   } kj k  gksr k  gSA  , d  QeZ  oLr q  dh  dher   dks  i zHkkfor   ugha  dj   l dr h  D; kasfd  ml dk  dqy  mRi knu  esa 

; ksxnku vR; Ur  l w{e ; k ux.;  gksr k gSA 

The form of market in which there are innumerable (large number) buyers and sellers of a commodity, 

producing homogenous goods and there is free entrance and exit of firms in the market, is known as 

Perfect Competition Market . 

                                       
 
 
 
 
 

Q P TR AR MR
1 10 10 10 10
2 10 20 10 10
3 10 30 10 10
4 10 40 10 10

 AR = MR
Price

Output
X

P

Y

O
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Q 22. ckt kj  l Ur qyu dh vo/kkj .kk dks , d dkYi fud r kfydk dh l gk; r k l s l a{ksi  esa l e>kb; sA 

Explain Briefly the Concept of Market Equilibrium with the help of Imaginary Table .  

            [ 4 Marks ] 
 

Ans. l ar qyu  dks  , d  , sl h  fLFkfr   ds  : i   esa  i fj Hkkf"kr   fd; k  t kr k  gS  t gk¡  ckT+kkj   esa  l Hkh  mi HkksDr kvksa  r Fkk  Qeks±  dh 

; kst uk, ¡ l qesfyr  gks t kr h gSaA l ar qyu dh fLFkfr  esa ft l  dqy ek=kk dk foØ;  dj us dh l Hkh Qes± bPNqd gSaA og ml  

ek=kk  ds  cj kcj   gksr k  gS ft l s  ckt kj   esa  l Hkh  mi HkksDr k  [ kj hnus ds  bPNqd  gS  vFkkZr ~  ckt kj   i wfr Z]  ckt kj   ek¡x  ds  cj kcj  

gksr h  gSA  ft l   dher   i j   l ar qyu  ; fn  fdl h  dher   i j   ckt kj  i wfr Z  ckt kj   ek¡x  l s vf/kd  gS  r ks  ml   dher   i j   ckt kj  

esa  vf/ki wfr Z  ; k  i wfr Zvkf/kD;   dgyk, xkA  r Fkk  ; fn  ml   dher   i j   ckt kj   ek¡x]  ckt kj   i wfr Z  l s  vf/kd  gS  r ks  ogk¡  ml  

dher   i j   ckt kj   esa  vf/kek¡x  ; k  ek¡xvkf/kD;   dgyk, xkA  ¼i w.kZ  i zfr ; ksfxr k  esas  ' kwU;   vf/kekax  r Fkk  ' kwU;   vf/ki wfr Z  dh 

fLFkfr  fn[ kkbZ nsr h gSA½ 

The Price at which the Quantity Demanded is equal to the Quantity Supplied, is known as Equilibrium 

Price.  At  this  Price  there  is  neither  Excess  Demand  Nor  Excess  Supply.  Therefore  there  is  No 

Tendency, for the Price to Change. Equilibrium Price under Perfect Competition Market is determined 

by  the  Comparative  Power  of  Market  Demand  and  Market  Supply  . Because  in  Perfect  Competition 

Market there are large number of Buyers and Sellers who exist in Market . Therefore Share of a Single 

Seller  or  a  Single  Buyer  is  very  minute  fraction  of  Total  Supply  and  Total  Demand  of  the  Market. 

Therefore  an  Individual  Seller  or  Buyer is  unable  to  affect  the  Market  Supply  , Market  Demand  and 

Market Prices  
 

     .          

 
 

Q 23. j k"Vªh;  vk;  dh fdUgha pkj  fo' ks"kr kvksa dk o.kZu dhft ; sA 

Describe any FOUR Features of National Income .      [ 4 Marks ] 

Ans. j k"Vªh;  vk;  dh fo' ks"kr k, sa fuEu i zdkj  l s gS % 

o j k"Vªh;  vk;  dk l EcU/k , d ns' k dh vFkZO; oLFkk l s gksr k gSA 
 

o j k"Vªh;   vk;   dk  l EcU/k  , d  fuf' pr   vof/k]  t ks  l kekU; r %  , d  foÙkh; &o"kZ  dh  gksr h  gS]  ¼Hkkj r   esa  , d  vi zSy 

l s vxys o"kZ ds 31 ekpZ r d½A 
 

o j k"Vªh;   vk;   dk  l EcU/k  , d  ns' k  ds  fuokfl ; ksa  dh  vkfFkZd&fØ; kvksa  l s  gksr k  gS  fdUr q  or Zeku  esa  ns' k  ds 

HkkSxksfyd {ks=k esa fuokfl ; ksa vkSj  xSj  fuokfl ; ksa dh vkfFkZd&fØ; kvksa dk v/; ; u Hkh bl esa ' kkfey gksr k gSA 
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o j k"Vªh;  vk;  dk l EcU/k mRi knd vkfFkZd&fØ; kvksa l s gksr k gS vFkkZr ~ bl esa vuqRi knd  fØ; kvksa dks l fEefyr  

ugha fd; k t kr k gSA 

Features of National Income are : 
o National Income is related to National Income . 

o National Income is related to a Definite Time Period . 

o National Income is related to the Economic Activities of a Country . 

o National Income is related to the Productive Economic Activities . 

 
 

Q 24. eqnzk ds fdUgha pkj  dk; ksZa dks l e>kb; sA  

Explain  any  FOUR  Functions  of  Money .        
           [ 4 Marks ] 

Ans. eqnzk ds dk; Z %a 

eqnzk ds eq[ ;  dk; Z % 

o fofue;   dk  ek/; e  %  vk/kqfud  ; qx  esa  euq";   dk  l ai w.kZ  t hou  fofue;   i j   vk/kkfj r   gS  r Fkk  eqnzk  fofue;   ds 

ek/; e dk dk; Z dj r h gSA vkt  oLr qvksa o l sokvksa dk Ø; &foØ;  eqnzk ds } kj k fd; k t kr k gSA 

o ewY;   eki d  %  eqnzk  l ekt   } kj k  mRi Uu  l Hkh  oLr qvksa  , oa  l sokvksa  ds  ewY;   eki d  dk  dk; Z  dj r h  gSA  ft l  

i zdkj   yEckbZ  dks  ehVj   esa  ot u  dks fdyks xzke  esa  r Fkk  r j y   oLr qvksas  dks  yhVj   esa  eki k  t kr k  gSA Bhd  ml h 

i zdkj   oLr qvksa  vkSj   l sokvksa  ds  ewY;   dks  eqnzk  esa  eki k  t kr k  gS  eqnzk  dk  ewY;   eki d  dk; Z  fgl kc  ; k  ys[ ks  dh 

bdkbZ (Unit of Account) Hkh dgykr h gSA 
 

o LFkfxr  ¼Hkkoh½ Hkqxr kuksa dk eku % eqnzk dsoy or Zeku Hkqxr kuks ds eku dk dk; Z gh ugha dj r h cfYd eqnzk , sl s 

eqxr kuksa  ds  fy,   Hkh  mfpr   vk/kkj   gS  t ks  r Rdky  u  dj ds  Hkfo";   esa  fd; s  t k; sxsaA  vkt   dk  ; qx  l k[ k  ; qx  gS 

ft l esa vf/kdka' k O; ki kfj d l kSns l k[ k i j  pyr s gSA ; g l k[ k ; k m/kkj  eqnzk ds : i  esa gh nh t kr h gSA  

o ewY;  l ap;  dk  l k/ku % eqnzk dk nwl j k xkS.k dk; Z ewY;  dk l ap;  dj uk gSA dksbZ Hkh O; fDr  vi uh vk;  esa l s 

cpr   dj   l dr k  gS  r Fkk  bl   cpr   dks  eqnzk  ds  : i   esa  l qj f{kr   j [ k  l dr k  gSA  eqnzk  esa  Ø;   ' kfDr   gksr h  gS 

ft l s l afpr  dj ds j [ kk t kr k gSaA  
 

Functions  of  Money  are : 
Primary Functions : 

o Medium of Exchange  :  Money serves as a Medium of Exchange and Facilitates the Buying 

and  Selling  of  Goods  ,  thereby  Eliminating  the  Need  for  Double  Coincidence  of  Needs  and 

Wants as under Barter . 

o Measure of Value :  Money has also Removed the Difficulty of Barter System by Serving as a 

Common Measure of Value . The Values of Various Commodities are Expressed in Terms of 

Money . Money as a Measure of Value has made Transactions Simple and Easy . 
 

o Standard of Deferred Payments :  Money has always been used as a Standard of Deferred 

Payment .  This  Function  of  Money  has  Attained  More  Importance in  Modern Times  with the 
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Extension of Trade based on Credit . As a result of this function , it has become possible to 

Express Future Payments in Terms of Money . 

o Store  of  Value  :    Classical  Economists  did  not  Recognize  the  Store  of  Value  Function  of 

Money  .  Keynes  laid  Stress  on  this  Function  of  Money  .  People  Store  Money  to  Meet 

Unforeseen Contingencies .  

 

Q 25. l ef"V vkfFkZd l kE;  dks j s[ kkfp=k dh l gk; r k l s l e>kb; sA 

Explain  Macro  Economic  Equilibrium  with  the  help  of  a  Diagram .    

            [ 4 Marks ] 
 

Ans. l ef"V  vkfFkZd  l kE;  AD  –  AS ekWMy  } kj k  vYi dkyhu  l ar qyu  vFkZO; oLFkk  dh  okLr fod  fLFkfr   dks  cr kr k  gSA 

ekSfnzd , oa j kt dksf"k;  uhfr  fdl  i zdkj  dkj xkj  fl )  gksr h gS] ; g AD - AS ekWMy } kj k cr k; k x; k gSA 
  

 
 

 l exz  ekax (AD) vYi dkyhu  i wfr Z  oØ (SAS) ds  cj kcj   gksus i j   l kE;  E gksr k  gSA  ; fn  dher  P2 gksr h  gS  r ks  l exz 

i wfr Z] dgr s  gSA  , sl h  fLFkfr   eas  mRi knd  mRi knu  eas  deha  dj r k  gSA  ekax  de  gksus  i j   og  mRi kfnr   eky dks  csp 

ugha i kr k gSA dher  Øe' k% de gksus yxr h gS  vkSj  i qu% P0 l kE;  dher  dks i zkIr  dj r h gSA 
 

 bl ds  foi fj r   ; fn  dher sa OP1  gksr h  gS  r ks  l exz  ekax  l exz  i wfr Z  dh  vi s{kkdr̀   vf/kd  gksr h  gS ,  (AB)  ft l s 

vf/kD;  ekax dgk t kr k gSA vf/kd ekax mRi knd dsk vf/kd mRi knu ds fy,  i zsfj r  dj r h gSA  
 

 mRi knd } kj k mRi knu l k/kukas dh ekax c<+us i j  l k/ku ykxr  esa òf)  gksr h gSA  
 

 vUr r %  oLr qvksa  dh  dher   c<+us  yxr h  gS  vkSj   i qu%  l kE;  P0  dher ksa  i j   LFkkfi r   gksr k  gSA  nh?kZdky  esa  l kE;   r c 

gksr k  gS  t c  l exz  ekax]  nh?kdkyhu  l exz  i wfr Z  oØ  ds  cj kcj   gksr k  gSA  nh?kZdkyhu  i wfr Z  oØ GDP yEcor ~  gksus  i j  

l keF; Z GDP ds cj kcj  gksr k gSA nh?kZdky esa okLr fod GDP, l keF; Z GDP ds cj kcj  gksr h gSA 

 

Short  Term  Equilibrium  tells  the  Actual  Condition  of  the  Economy  .  Actual  GDP  remains  close  to 

Potential GDP . The Aggregate Demand (AD)  –  Aggregate Supply (AS) Model informs as to how are 

the Monetary and Fiscal Policies become Effective .  
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When the Aggregate Demand (AD) is Equal to Short Term Supply Curve (SAS) , the Equilibrium is at 

E , where Income OY0 and Price Level P0 are Determined . If the Price is P2 , the Aggregate Supply is 

Comparatively  More  than  Aggregate  Demand  which  is  called    Minimum  Demand  (CD)    .  In  such  a 

situation  ,  the  Producer  cuts  down  the  Production  .  As  the  Demand  is  Less  ,  the  Produced  Goods 

cannot be Sold and these Goods are Stored as Stock . The Costs begins to go Down and Again attain 

the Equilibrium Price P . 

Opposed  to  this  ,  if  the  Prices  are  OP1  ,  then  the  Aggregate  Demand  is  Comparatively  More  than 

Aggregate  Demand  which  is  called  Predominant  Demand  (AB)  .  More  Demand  Encourages  More 

Production  .  As  the  Producers  Demand  more  means  of  Production  ,  it  leads  to  an  Increment  in 

Investment . Finally , the Price of Goods begins to Increase and Equilibrium P0 is again Attained in the 

Prices . In the Short Term , Monetary Wage Level is Stable and Actual GDP may be More or Less than 

Potential GDP . In the Long Term , Equilibrium is Attained when Aggregate Demand is Equal to Long 

Term  Aggregate  Supply  Curve  .  The  Long  Term  Supply  Curve  GDP  is  Vertical  and  so  is  Equal  to 

Potential GDP in the Long Term , Actual GDP is Equal to Potential GDP .   .  .  

 

Q 26. ; fn l hekUr  mi Hkksx i zòfÙk 0.8  gS ] r ks fuos' k xq.kkad dk eku Kkr  dhft ; sA 

If the  Marginal  Propensity to  Consume  (MPC)  is  0.8 ,  Calculate  the  Value  of Investment  Multiplier .

            [ 4 Marks ] 
 

Ans.  

  k  =  
MPC–1
1     k  =   

8.0–1
1      k  =  5 

 

Q 27. vki dh nf̀"V l s ] ct V ds dksbZ pkj  mí s' ;  cr kb; sA 

In your view , State any FOUR Objectives of Budget .      [ 4 Marks ] 
 

Ans. ct V  , d  , sl k  l k/ku  gS  ft l ds  } kj k  foÙkh;   i z' kkl u  dh  l Hkh  fof/k; ksa  dks  l EcfU/kr   fd; k  t kr k  gS]  mudh  r qyuk  dh 

t kr h  gS  , oa  l eUo;   LFkkfi r   fd; k  t kr k  gSA  ; g  l j dkj   dh  i zR; kf' kr   vk;   , os  l j dkj   ds  vi zR; kf' kr   O; ;   l al n  ds 

l e{k  i zLr qr   dj r h  gS  vkSj   l al n  dh  Lohd f̀r   gksus  ds  i ' pkr ~ bl ds  i zLr ko  ds  vuql kj   gh  dk; Z  fd; s  t kr s  gSA    ct V 

ds fuEu i zeq[ k mís' ;  gS % 

o l j dkj h ct V l s u dsoy fodkl  i zHkkfor  gksr k gS cfYd fodkl  dh fn' kk Hkh ct V l s fu/kkZfj r  gksr h gSA 

o mRi knu  c<+kus  esa  Hkh  ct V  dh  Hkwfedk  vR; Ur   egRoi w.kZ  gksr h  gS  ct V  eas  j kgr   } kj k  fn; s  x; s  dj kj ksi .k 

l EcU/kh fj ; k; r ksa , oa ' kqYd eas j kgr  } kj k fn; s x; s i zksRl kgu mRi knu òf)  eas l gk; d gksr s gSA 

o l kekU; r k  l j dkj   ct V  ds  ek/; e  l s  u; s  dj   yxkdj   vkSj   t ur k  l s  _ .k  ysdj   ml dh  Ø;   ' kfDr   esa  deh 

dj r s gq; s dher  Lr j  dks fu; fU=kr  dj r h gSA 

o ns' k ds vkfFkZd o l kekft d fodkl  dks xfr  nsuk , oa vk;  o /ku dk i qufoZr j .k dj ukA 
 

The  Objective  of  the  Budget  is  to  provide  Direction  to  the  Economy  of  the  Country  .  The  Country’s 

Economy Setup is Directly Affected by the Government . The Main Objectives of a Budget are : 

o Besides  Affecting  the  Growth  and  Development  of  a  Country  ,  the  Budget  also  provides  a 

Direction to it . 
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o The  Budget  is  also very  important  in  Increasing  Production  .  The  Tax  Related  Concessions 

and Other Reliefs helps in Increment in the Production . 

o Generally , the Government Proposes New Taxes and Collects Loans from the Populace so 

as to Control its Purchasing Power in order to Control the Price Levels . 

o To  Provide  Momentum  to  Economic  and  Social  Growth  and  Redistribution  of  Income  and 

Wealth . 

 

SECTION – D    ([ k.M – D) 
 

Q 28. ek¡x ds nks r Ro cr kb; sA ek¡x ds fu; e dh O; k[ ; k j s[ kkfp=k dh l gk; r k l s dhft ; sA 

State TWO Elements of Demand . Explain the Law of Demand with the help of a Diagram . 

OR 

ek¡x dh dher  yksp fdl s dgr s gS \  ek¡x dh dher  yksp dh fdUgha nks Jsf.k; ksa dks j s[ kkfp=kksa dh l gk; r k l s 

l e>kb; sA 

What is the Price Elasticity of Demand ? Explain any TWO Types of Price Elasticity of Demand with 

the help of Diagrams .  

            [ 6 Marks ] 
Ans.   

 ek¡x esa fuEu r Ro l fEefyr  gksr s gS % 

o fdl h oLr q dh bPNk ; k vko' ; dr k  

o bl  oLr q dks [ kj hnus ds fy,  eqnzk ; k i Sl k 

ek¡x ds fu; e 

 ek¡x dk fu; e oLr q ds ewY;  vkSj  ek¡x ds l EcU/k dks Li "V dj r k gSA ek¡x oLr q ds ewY;  esa òf)  gksus i j  ml dh ek=kk 

de  Ø;   dh  t kr h  gS vkSj   ewY;   esa deh  gksus  i j   ml dh  ek=kk vf/kd  Ø;   dh  t kr h  gSA  ek¡x  vkSj   ewY;  ds  bl   foi j hr  

l EcU/k dks gh ek¡x ds fu; e } kj k Li "V fd; k x; k gSA bl  fu; e dks fuEu çdkj  i fj Hkkf"kr  fd; k x; k gS %  i zks- ek' kZy 

ds  ' kCnkas  esa]  ̂ d̂her   esa  deh  gksus  i j   ek¡x  dh  ek=kk  esa  òf)   r Fkk  dher   esa  òf)   gksus  i j   ek¡x  dh  ek=kk  esa  deh  gksr h 

gSA** 
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 l j y   ' kCnksa  es  ge dg  l dr s  gS  fd  ek¡x  dk  fu; e  gesa  ; g  cr kr k  gS  fd vU;   ckr sa  l eku  j gus  i j   oLr q dh  dher  esa 

deh  vkus  i j   ml dh  vf/kd  ek=kk r Fkk  dher   esa  òf)   gksus  i j  ml dh  de  ek=kk  [ kj hnh  t kr h  gSA  l a{ksi   esa]  ; g  dher  

vkSj  ek¡x esa foi j hr  l aca/k cr kr k gSA 

 ekax  dk  fu; e  , d  xq.kkRed  dFku  gS]  ; g  fu; e  ek¡x  esa  gksus  okys  i fj or Zuksa  dh  fn' kk  dh  vksj   l adsr   dj r k  gS]  bu 

i fj or Zuksa dh eki  ugha dj r kA  

 fu; e dh fuEu i zeq[ k ekU; r k; sa gS % 

 (i)  mi HkksDr k dh vk;  fLFkj  j guh pkfg, A 

 (ii)   mi HkksDr k dh : fp , ao vknr  esa dksbZ i fj or Zu ugha gksuk pkfg, A 

 (iii)  l EcfU/kr  oLr qvksa ds ewY;  esa dksbZ i fj or Zu ugha gksuk pkfg, A 

 (iv)  fdl h vU;  LFkkukIkUu oLr q dk fodkl  ugha gksuk pkfg,  vFkok xzkgd dks ml dk i r k ugha pyuk pkfg, A 

 (v)   oLr q ds ewY;  esa vkSj  vf/kd i fj or Zu dh l EHkkouk ugha gksuh pkfg, A 

 (vi)   oLr q i zfr "Bkt ud ugha gksuh pkfg, A   

vFkok 
 

 ek¡x  dh  dher   yksp -  ek¡x  dh  dher   yksp  ; g  Li "V  dj r h  gS  fd  oLr q  ds  ewY;   esa  , d  fuf' pr   i fj or Zu  gksus  i j  

ml dh  ek¡x  esa  fdr uk  i fj or Zu  gksxkA  bl   çdkj ]  fdl h  oLr q  ds  ewY;   esa  , d  fuf' pr   i fj or Zu  gksus  i j   ml dh  ek¡x 

dh ek=kk esa t ks vkuqi kfr d i fj or Zu gksxk] ml dh eki  gh ek¡x dh dher  yksp gSA  

 Jher h   j kWfcUl u  ds  vuql kj ]  Þfdl h  dher   i j   ekax  dh  yksp dher   eas  FkksM+s  i fj or Zu  ds  i zR; qÙkj   esa  Ø;   dh  xbZ  ek=kk 

ds  vkuqi kfr d  i fj or Zu  dks  dher   ds  vkuqi kfr d  i fj or Zu  l s  Hkkx  nsus  i j   i zkIr   gksr h  gSAÞ    l w=k  ds  #i   esa  bl s  fuEu 

çdkj  O; Dr  fd; k t k l dr k gS : 

  ek¡x dh yksp  

                


 ek¡x dh yksp dh Jsf.k; ka %

 fdl h  oLr q  ds  ewY;   esa  i fj or Zu  gks  t kus  i j   ml dh  ek¡x  esa  Hkh  i fj or Zu  gks  t kr k  gS  i j Ur q  ewY;   esa  i fj or Zu  dk  l Hkh 

oLr qvksa  dh  ek¡x  i j   l eku  çHkko  ugha  i M+r kA  dqN  oLr qvksa  dh  ek¡x  vf/kd  ykspnkj   gksr h  gS  t cfd  dqN  oLr qvksa  dh 

ek¡x de ykspnkj  gksr h gSA bl  vk/kkj  i j  ek¡x dh yksp dks fuEu i k¡p Hkkxksa esa ck¡Vk x; k gSA  

(1) i w.kZr ; k ykspnkj  ek¡x (Perfectly  Elastic  Demand  ed = )  : t c fdl h oLr q dh ek¡x ml ds ewY;  esa 

fcuk  fdl h  i fj or Zu  ds  gh  vFkok  ewY;   esa  cgqr   de  i fj or Zu  gksus  i j   Lo; a  gh  ?kVr h  c<+r h  j gr h  gS  r ks 

bl s  i w.kZr ; k  ykspnkj   ek¡x  dgr s  gSaA  ; g  , d  dkYi fud  fopkj   gSA  okLr fod  t hou  esa  , sl h  dksbZ  oLr q 

ugha  gS  ft l dh  ek¡x  i w.kZr ; k  ykspnkj   gksA  bl ds  oØ  dk  vkdkj   {kSfr t   vFkok  v{k  ds  l ekukUr j   gksr k 

gSA  

ek¡xh x; h  ek=kk esa vkuqi kfr d@i zfr ' kr @ek=kkRed i fj or Zu

ewY;  esa vkuqi kfr d@i zfr ' kr @ek=kkRed i fj or Zu
=

P
Qed





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(2) bdkbZ  l s  vf/kd  ykspnkj   ek¡x (Highly  Elastic  Demand  ed  >1)  : t c  fdl h  oLr q  ds  ewY;   esa  gksus 

okyk  i fj or Zu  de  gksr k  gS  vkSj   ek¡xh  xbZ  ek=kk  esa  gksus  okyk  i fj or Zu  vf/kd  gksr k  gS  r ks bl s  bdkbZ  l s 

vf/kd  ykspnkj   ek¡x  dgr s  gSaA  çk; %  foykfl r k  dh  oLr qvksa  dh  ek¡x  bdkbZ  l s  vf/kd  ykspnkj   gksr h  gSA 

bl s fuEu oØ dh l gk; r k l s Li "V fd; k t k l dr k gS % 

                    

 

The TWO Elements of Demand are : 

o Willingness to Buy a Commodity  

o Resources to Buy that Commodity 

The Law of Demand : 
 In law of demand we studies the impact on quantity demanded due to change in price of concerned 

commodity, when rest of the determinants remains constant.  

 According  to  law  of  demand,  "More  quantity  is  demanded  due  to  fall  in  price  and  less  quantity  is 

demanded due to rise in price, when other things remains constant." Thus law of demand shows the 

negative  relationship  between  price  of  a  commodity  and  its  quantity  demanded.  According to law  of 

demand, demand of a commodity is a function of its price .  

    Dx = f (Px)  

  here,   Dx = Demand of X commodity, Px = Price of X commodity  

 Law  of  demand  is  only  qualitative  statement  (  because  it  only  indicates  the  direction  in  which  the 

demand will change, whether it rises or falls). Law of demand says that demand varies inversely with 

price, not necessarily propotionately. 
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 Assumptions of Law of Demand :  
 The phrase, "other things remains constant" used in law of demand, represents assumptions of law of 

demand. The law of demand would be applicable only if other things would remains the same, (ceteris 

paribus)  means  the  determinants  of  demand  other  than  price  of  the  concerned  commodity  remains 

unchanged. The following are some important assumptions of law of demand :-  

 (i)  Price of other related goods remains constant.  

 (ii)  Income of the consumer remains unchanged.  

(iii)  Psychological factors like habits, taste, preferences of the consumers remains constant.  

 (iv)  There is no expectation about the future price changes, etc.   

 
 Explanation of the Law : 
 

 According to law of demand consumer demand less of the commodity when it becomes costlier and 

consumer  demand  more  of  the  commodity  when  it  becomes  cheaper.  In  other  words  it  shows  the 

inverse relationship between price of concerned commodity and its quantity demanded. This inverse 

relationship can be seen in demand schedule and demand curve. The negative slope of the demand 

curve is due to the inverse relationship between price of the commodity and quantity demanded. When 

the price of commodity was OP the consumer was demanding OQ units of the commodity. As the price 

rises to OP1 the demand falls to OQ1 (which is contraction in demand) and as the price falls to OP2 the 

demand rises to OQ2 (which is expansion in demand). 

                         
 

OR 
 

Price  Elasticity  of  Demand  measures  the  Degree  of  Responsiveness  in  Quantity  Demanded  due  to 

Change in Price, when other factors remains Constant . It can be measured by the following  methods 

: 
 

A.  Percentage  Method  :  According  to  this  method  degree  of  elasticity  of  demand  can  be 

calculated  by  the  ratio  between  percentage  change  in  quantity  demanded  and  percentage 

change in price of the commodity. For this, first we have to calculate the percentage change in 

price  and  percentage  change  in  quantity  demanded,  which  we  can  calculate  by  using  the 

given formulae :  

Y

D

Contraction

Extension

E1

O Q1 Q Q2

Quantity

P

P1

P2

X

P
ric

e

E2

E

Px Dx
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  (i)    % Change in Price  =  
p
p   × 100   

(ii)    % change in Quantity Demanded = 
q
Q  × 100 

  Here ,   p = change in price ,   q = change in quantity demanded ,    

   P = Initial price ,   Q = initial quantity demanded.  
 

After that we can calculate the degree of elasticity by using the following formulae : 

    ep  =  
icePrinChange%
DemandQuantityinChange%  

 

B.  Proportionate  Method  :    According    to    this  Method  the  Co-efficient  of  Price  Elasticity  of 

Demand can be calculated by the Ratio between Proportionate Change in Quantity Demanded 

and Proportionate Change in Price . 

ep   = 
icePrinChangeeoportionatPr

DemandedQuantityinChangeeoportionatPr     

=  
p
P

q
Q





  = 
q
Q  x 

P
p


  =  
P
Q


  x 

q
p .  

      

  Here ,  q = Change in Quantity Demanded  ,      p = Change in Price  ,    

   Q = Initial Quantity Demanded  ,     P = Initial Price  

 

 Degrees  of  Price  Elasticity  of  Cemand  can  be  classified as : 
 

(a)  Perfectly Elastic Demand : When the quantity demanded changes too much (increases that 

much that it may becomes infinite or decreases that much that it may becomes zero) with the 

very minute change in its price, then it is termed as perfectly elastic demand . This condition 

can be found in the perfect competition market  where  the commodity produced by different 

firms is identical in every aspects, means the commodity is homogenous . But this condition 

can  not  be  found  in  practical  world  .  In  this  case  the  demand  curve  would  be  horizontal  or 

parallel to  X  axis  and  that’s  why  slope  of  the  demand  curve  would  be  zero. In this case  the 

degree  of  elasticity  of  demand  is  infinite  (ep  =  )  because  of  too  much  change  in  quantity 

demanded . 
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(b)  Highly  Elastic  Demand  (or  Elastic  Demand  or  More  Elastic  Demand)  :  When  the 

percentage (or proportionate) change  in quantity demanded is more than the percentage (or 

proportionate) change in price, then it is termed as highly elastic demand. In other words the 

percentage increase in quantity demanded is more than the percentage decrease in price or 

the percentage decrease in quantity demanded is more than the percentage increase in price . 

It is a realistic condition and can be found in the case of luxurious goods, like jwellery, mobile 

phones, etc.  In  such  cases  demand  curve  would  be  more  steeper  than  perfectly  elastic 

demand but less  steeper than unitary elastic demand. The degree of elasticity of demand in 

this case is greater than one (ep > 1).  

 
 

Q 29. dqy vkxe , oa dqy ykxr  fof/k } kj k QeZ ds l Ur qyu dh O; k[ ; k j s[ kkfp=k dh l gk; r k l s dhft ; sA 

Explain the Equilibrium of a Firm by Total Revenue  (TR) and Total Cost (TC) Approach with the help 

of Diagram . 

OR 

l hekUr  vkxe , oa l hekUr  ykxr  fof/k } kj k QeZ ds l Ur qyu dh O; k[ ; k j s[ kkfp=k dh l gk; r k l s dhft ; sA 

Explain the Equilibrium of a Firm by Marginal Revenue (MR) and Marginal Cost  (MC) Approach with 

the help of Diagram .  

            [ 6 Marks ] 
Ans.   

l Hkh Qeks± dk mís' ;  ykHk dks vf/kdr e dj uk gksr k gSA Qes± mRi knu dh , sl h ek=kk fu/kkZfj r  dj r h gS ft l  i j  ml ds 

ykHk  vf/kdr e  gksr s  gSA  bl h  mís' ;   l s  og  mRi knu  dh  ek=kk  dks  dHkh  c<+kr k  gS  r ks  dHkh  ?kVkr k  gS]  ft l l s  ml  

l kE; koLFkk  dks  i zkIr   dj   l ds  ft l   i j   vf/kdr e  ykHk  i zkIr   gksr s  gSA  vkxe  vkSj   ykxr   dk  vUr j   ykHk  vFkok  gkfu 

dks cr kr k gSA ; fn fdl h QeZ dk vkxe ml dh ykxr  l s vf/kd gksr k gS r ks QeZ dks ykHk i zkIr  gksr k gS bl ds foi j hr  

; fn vkxe ykxr  l s de gksr k gS] r ks gkfu gksr h gSA 
 

o dqy vkxe dqy ykxr  fof/kA 

QeZ dk l ar yqu % bl  fof/k ds vuql kj  QeZ dk l ar qyu ml  fLFkfr  esa gksxk t gk¡ dqy vkxe vkSj  dqy ykxr  

eas  var j   l okZf/kd  gksr k  gS vFkkZr ~ TR vkSj  TC oØksa  esa  vUr j  vf/kdr e gksr k  gSA  QeZ  ml   mRi knu  ek=kk  i j  

l kE; koLFkk eas gksxh t c ml s i zkIr  gksus okyk ykHk vf/kdr e gksr k gSA 

Quantity

XO Q Q1

P

Y

Pr
ice

P1

D

% Q.D> % P 
e > 1P

% P

% Q 
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  * bl   fp=k  eas x v{k  i j   mRi knu  ek=kk  vkSj  y v{k  i j   dqy  vkxe]  dqy  ykxr   vkSj   ykHk  dh  ek=kk 

n' kkZ; h x; h gSA 

  * dqy  vkxe (TR) oØ  ' kwU;   l s  i zkj EHk  gksr k  gS]  bl l s  ; g  ckr   Li "V  gksr h  gS  fd  vxj   mRi knu  dh 

ek=kk  ' kwU;   gksr h  gS  r ks  dqy  vkxe  Hkh  ' kwU;   gksr k  gS  vkSj   t Sl s  t Sl s  mRi knu  c<+r k  gS  r ks  dqy  c<+us 

i j  vkxe oØ nk; as Åi j  dh vksj  mBr k gSA 

  * dqy  ykxr   oØ (TC)  C fcUnw  l s  i zkj EHk  gksr k  gS  , oa OC fLFkj   ykxr   gksr h  gSA  mRi knu  ' kwU;   gksus 

i j  Hkh QeZ dks OC ds cj kcj  ykxr  ogu dj uh i M+r h gSA 

  * dqy  vkxe  vkSj   ykxr   ds  vUr j   l s  dqy  ykHk (TA) vft Zr   gksr k  gSA  dqy  ykHk  oØ (TP) dks TR 

vkSj  TC oØ ds vUr j  l s O; qRi Uu fd; k gSA 

  * i zkj EHk  esa K mRi knu  ds  Lr j   i j   pwafd TC>TR gksr k  gS  vFkkZr ~  dqy  ykxr ]  dqy  vkxe  l s  vf/kd 

gksus i j  QeZ dks gkfu gksr h gSA O; qRi Uu ykHk oØ (TP) _ .kkRed {ks=k eas fLFkr  gSA 

  * M fcUnq i j  t c dqy vkxe (TR), dqy ykxr  (TC) ds cj kcj  gksr k gS r ks QeZ dks u ykHk gksr k gS 

u  gh  gkfuA  vr %  bl   voLFkk  dks  l efLFkfr   fcUnq  dgr s  gSA  dqy  ykHk  oØ (TP)  X  - v{k  i j  Li ' kZ 

dj r k gS vFkkZr ~ QeZ dks K mRi knu Lr j  i j  ykHk ' kwU;  i zkIr  gSA 

  * mRi knu K o L fcUnqvkas  ds  e/;   gksr k  gS]  r ks  dqy  vkxe  dqy  ykxr   l s  vf/kd  gksr h  gSA TR oØ 

bl  {ks=k esa TC oØ l s Åi j  gS vFkok TR>TCA bl h i zdkj  dqy ykHk Hkh /kukRed gSA 

  * dqy  vkxe  vkSj   dqy  ykxr   oØksa  i j   ; s  Li ' kZ  j s[ kk, a  t gk¡  Li ' kZ  dj r h  gS (E vkSj  F fcUnq  i j ) mu 

i j  TR vkSj  TC oØ  ds  e/;   nwj h  vf/kdr e  gksr h  gS]  bl fy,   ykHk  Hkh  vf/kdr e  gksr s  gSA  l kE;  

mRi knu ek=kk OQ fu/kkZfj r  gksr h gSA vf/kdr e ykHk dh ek=kk SQ gksr h gSA 

  * KQ ds e/;  mRi knu i j  TR vkSj  TC ds e/;  vUr j  c<+r k gqvk gksr k gS vFkkZr ~ dqy ykHk c<+r h nj  

l s i zkIr  gksr s gS S fcUnq i j  vf/kdr e gksr s gSA QL mRi knu i j  Hkh ykHk i zkIr  gksr s gS fdUr q TR vkSj  

TC dk vUr j  de gksr k t kr k gS r ks ykHk Hkh ?kVus yxr s gSA TP oØ uhps dh vksj  fxj r k gSA 

  * N fcUnq  i j   i qu%  dqy  vkxe  vkSj   dqy  ykxr   cj kcj   gksr s  gSA  ; g  l efLFkfr   fcUnq  dgykr k  gSA  bl  

i j  u ykHk vkSj  u gkfu dh fLFkfr  gksr h gSA 
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  * OL mRi knu  ek=kk  ds  ckn  ; fn  QeZ  vkSj   vf/kd  mRi knu  dj r h  gS  r ks  dqy  ykxr   c<+r h  t kr h  gS 

vkSj   dqy  vkxe  ?kVr k  gS (TC>TR)A  QeZ  dks  gkfu  gksr h  gSA  dqy  ykHk (TP) oØ x ds  uhps  gksr k 

gSA 
 

 fp=k  ds  vk/kkj   i j   QeZ  dk  l ar qyu OQ mRi knu  ek=kk  i j   gksr k  gS]  D; kasfd  bl   mRi knu  ek=kk  i j   dqy  vkxe (TR) 

vkSj  dqy ykxr  (TC) dk vUr j  vf/kdr e gksr k gSA vFkkZr ~ ykHk ek=kk SQ vf/kdr e gksr h gSA 
 

 vkykspuk 

 (a) dqy  vkxe  vkSj   dqy  ykxr   ds  e/;   vf/kdr e  nwj h  Kkr   dj uk  dfBu  gksr k  gSA  dbZ  Li ' kZ  j s[ kk, ¡  [ khapus  i j  

okLr fod fcUnq i zkIr  gksr k gSA 

 (b) fp=k  ds  vk/kkj   i j   i zfr   bdkbZ  dher   dks  Kkr   dj uk  l EHko  ugha  gksr k  D; kasfd  dher   dks  i zR; {kr %  ugha 

fn[ kk; k t kr k gSA 
 

vFkok 
 

 

 

 

 

 

 

 l hekUr  vkxe vkSj  l hekUr  ykxr  fof/k 

 l hekUr  vkxe dk vFkZ gS , d QeZ dks , d vfr fj Dr  bdkbZ ds foØ;  dj us i j  t ks vfr fj Dr  vk;  i zkIr  gksr h gSA bl h 

i zdkj   l hekUr   ykxr   l s  r kRi ; Z  gksr k  gS  fd  QeZ  dks  , d  vfr fj Dr   bdkbZ  ds  mRi knu  i j   t ks  vfr fj Dr   O; ;   dj uk 

i M+r k  gSA  t c  l hekUr   vkxe (MR) ds  cj kcj   l hekUr   ykxr  (MC) gks  r ks  og  QeZ  dh  vkn' kZ  mRi knu  ek=kk  gksr h  gS] 

vFkkZr ~ t c MC = MR gksxk r c QeZ dk ykHk vf/kdr e gksxkA 

                             

 fp=k dh O; k[ ; k 

 * x v{k  i j   mRi knu  ek=kk  vkSj  y v{k  i j   l hekUr   vkxe (MR) vkSj   l hekUr   ykxr  (MC) n' kkZ; h  xbZ  gSA 

  

 * l hekUr   vkxe  oØ (MR) vkSj   l hekUr   ykxr   oØ (MC) gSA  vi w.kZ  i zfr ; ksfxr k  vFkok  , dkf/kdkj   ckt kj   esa 

l hekUr  vkxe oØ uhps fxj r k gqvk gksr k gSA 
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 * QeZ  ds  l Ur qyu  dh  i zFke  ' kr Z  gksr h  gS  fd  l hekUr   vkxe (MR), l hekUr   ykxr  (MC) ds  cj kcj   gksr h  gSA 

; g l kE;  fcUnq E } kj k n' kkZ; k x; k gSA mRi knu ek=kk OQ i j  ykHk vf/kdr e gksxsaA 

 * ; fn mRi knu ek=kk OM gksr h gS r c l hekUr  vkxe (FM) l hekUr  ykxr  (GM) dh r qyuk esa vf/kd gksr k gSA 

QeZ vkSj  vf/kd ykHk i zkIr  dj us ds fy,  mRi knu eas òf)  dj r h gSA  

 * ; fn  mRi knu  dk  Lr j  ON gksr k  gS]  r c  l hekUr   ykxr  (HN) l hekUr   ykxr  (IN) l s  vf/kd  gksr h  gSA  bl  

fLFkfr  esa QeZ dks mRi knu dj us dh gkfu gksr h gSA (EHI) 

 

 bl  i zdkj  QeZ dk l ar qyu E fcUnq i j  gksr k gS t gka MC = MR gksr k gS] OQ mRi knu ek=kk fu/kkZfj r  gksr h gS ft l  i j  

ykHk  vf/kdr e  gksr s  gSA  QeZ  ds  l ar qyu  dh  nwl j h  ' kr Z  ; g  gksr h  gS  fd MC oØ MR oØ  dks  uhps  l s  dkVuk  pkfg,  

¼i w.kZ i zfr ; ksfxr k esa vko' ; d½A 

 

 

 fp=k dh O; k[ ; k 

 * E fcUnq  i j   l hekUr   vkxe (MR) l hekUr   ykxr  (MC) ds  cj kcj   gSA  vFkZkr  MC  =  MRA  i gyh  l kE;   ' kr Z 

; gk¡  i wj h  gksr h  gSA  nwl j h  ' kr Z MC,  MR oØ  dks  uhps  l s  dkVuk  pkfg,   Hkh  i wj h  gksr h  gSA  bl   r j g OQ 

mRi knu ek=kk i j  QeZ dks vf/kdr e ykHk vft Zr  gksr s gSA ; g QeZ dk l ar qyu dgykr k gSA 
 

 * ; fn  QeZ  mRi knu  ek=kk OM fu/kkZfj r   dj r h  gS  r ks  i zFke ' kr Z (MC  =  MC)  F fcUnq  i j   i w.kZ  gksr h  gSA  fdUr q 

nwl j h  ' kr Z  ds  vHkko  esa  QeZ  vf/kdr e  ykHk  vft Zr   ugha  dj   l dr hA F fcUnq  l s  i woZ MC  >  MR gkfu  dks 

n' kkZr k gSA 
 

 vr % QeZ dk l ar qyu OQ mRi knu Lr j  i j  gksr k gS t gk¡ nksuksa ' kr s± i w.kZ gksr h gSA  

  (i)  MR = MR   (ii)  MC oØ MR oØ dks uhps l s dkVr k gSA 

 l hekUr   vkxe  l hekUr   ykxr   fof/k  Js"B  gS  D; kasfd  l j yr k  l s  vf/kdr e  ykHk  vkSj   mRi knu  ek=kk  Kkr   dh  t k  l dr h 

gSA QeZ ds vkSl r  vkxe vkSj  vkSl r  vkxe oØksa dk mi ; ksx dj us i j  i zfr  bdkbZ dher  Hkh Kkr  dh t k l dr h gSA 

 
According to this method , the Firm’s Equilibrium will be in that condition when the Difference between 

the Revenue and Cost will be the Most i.e. the Difference between the TR and TC Curves is Maximum 

..  
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 Impertect and Monopoly Market : 
In  the  Graph  ,  Output  Quantity  is  shown  on  x-axis  and  Total  Revenue  (TR)  ,  Total  Cost  (TC)  and 

Quantity  of  Profit  are  shown  on  y-axis . Total  Revenue  (TR)  Curve  begins from Zero . If  the Output 

Quantity is Zero , the Total Revenue will be Zero as well . As the Output Increases , Total Revenue 

Increases and the Revenue Curve Rises Up to the Right . Total Cost (TC) Curve begins from Point C 

and OC is the Fixed Cost . Even if the Output is Zero , the Firm has to bear Expenditure Equal to OC . 

The Difference between Total Revenue (TR) and Total Cost (TC) gives the Total Profit (TP) . The TP 

Curve is derived from the Difference between TR and TC Curve . 
 

Initially  TC  >  TR  at  Output  Level  ‘K’  derives  Total  Profit  (TP)  Curve  ,  which  is  located  in  Negative 

Region .On Point M , when the Total Revenue (TR) is Equal to Total Cost (TC) the Firm makes Neither 

Profit , Nor Loss . This Condition is called Break Even Point i.e.  Zero Profit at Point ‘K’ . When the 

Output  is  between  Point  K  and  L  , the  Total  Revenue  is More than  Total  Cost  . In this  Region  ,  TR 

Curve is above TC Curve i.e.  TR > TC and Total Profit is Positive . Tangents GH and IJ are drawn to 

find the Maximum Difference between TR and TC . The Distance between TR and TC Curves is the 

Most  at  Points  E  and F ,  where  these  Tangents  Touch  Total  Revenue  and Total  Cost  Curves  .  The 

Equilibrium Output Quantity is OQ on this Out Level . Thus the Quantity of Maximum Profit is SQ . 

On  Output  at  KQ,  the  Difference  between  TR  and  TC  is  Increasing  i.e.  Total  Profit  is  made  at 

Increased Rates and is Maximum at Point S . Profit is also made at QL , but the Difference between 

TR and TC goes on Reducing and the Profit also begins to Decline . The TP Curve begins to Slope or 

Fall  Down  .  On  Point  N,  the  Total  Revenue  (TR)  is  again  Equal  to  Total  Cost  (TC)  .  This  is  called 

Break Even Point where thare is No Loss or No Profit . After Output Quantity OL , if the Firm Produces 

More and the Cost Increases , resulting in less Revenue i.e.  TC > TR , the Firm Sustains Loss . The 

Total  Revenue  (TR)  Curve  is  Below  the x-axis  .  The Profit  is  Negative  and  Denotes  the  Loss  to  the 

Firm . In the Graph given , the Equilibrium of the Firm is at Output Quantity OQ as here the Difference 

between Total Revenue (TR) and Total Cost (TC) is the Maximum . Profit Quantity SQ is Maximum .   
 

OR 
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 “The  Producer's  Equilibrium  refers  to  the  situation  in  which  Producer  Maximizes  his  Profits  (or 

Minimizes His Loss) and the producer has no intention to make any changes in his Existing Production 

or  to  make  any  changes  in  His  Existing  Expenditure  on  means  of  Production”.  Profit  of  the  Firm 

Operating in Perfect Competition Market, is Maximised where the Price line (AR = MR ) intersects the 

MC Curve and MC should be rising . 
 

 It is Difficult to find out the Maximum Distance between Total Revenue (TR) and Total Cost (TC) as 

Actual  Point is found  but  only  after  Drawing  Many  Tangents  .  It is  Not  Possible  to find  out  Per  Unit 

Price on basis of Graph, as Price is Not shown Directly. 
 

 Perfect Competition Market : 
 

 The Marginal Revenue is the Extra Income Accrued to the Firm on Sale of Extra Unit of a Commodity . 

In  the  same manner  ,  Marginal  Cost  (MC) is  the  Extra  Expenditure  which  the Firm  has  to make for 

Production of an Extra Unit of a Commodity . 
 

                                               
 
 

 Imperfect and Monopoly Market : 
 

 Output Quantity is shown on x-axis and Marginal Revenue (MR) and Marginal Cost (MC) are shown 

on  y-axis  .  In  Imperfect  Competition  and  Monopoly  Markets,  the  Marginal  Revenue  Curve  Slopes 

Down while Marginal Cost Slopes Down Initially and as the Output Units Increase , the marginal Cost 

(MC) too Increases . The First condition of the Firm’s Equilibrium is that Marginal Revenue (MR) be 

Equal to Marginal Cost (MC) . This is shown by the Equilibrium Price . 
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 If the Output Quantity is OM , then the Marginal Revenue (FM) is more as compared to Marginal Cost 

(GM) . This Increase is till Output Level OQ and EFG is the Profit Region. If the Level of Output is ON , 

the Marginal Revenue (HN) is More than Marginal Cost (IN) . In this condition , the Firm sustains Loss 

(EHI) . Thus , the Firm’s Equilibrium is at Point E , where MC = MR . 

 
 Perfect Competition Market : 
 

 On  Point  E  ,  Marginal  Revenue  (MR)  is  Equal  to  Marginal  Cost  (MC)    i.e.    MR  =  MC  .  The  first 

condition  of  the  Equilibrium  is  Fulfilled  here  .  The  other  condition  of  the  MC  Curve  Intersecting  MR 

Curve is also Fulfilled here . If the Firm determines Output Quantity OM , the First Condition is Fulfilled 

at Point F (MC = MC) . But in the absence of the Second Condition , before Point F , Marginal Cost is 

Less than Marginal Revenue MC < MR and so the Firm Sustains Loss . 
 

 The Firm’s Equilibrium is at Output Level OQ , where both the Conditions are Fulfilled  

(i) MC = MR and    (ii)       MC Curve Intersects MR Curve from Below 
 

The  Marginal  Revenue–Marginal  Cost  method  is  the  Better  Method  as  Maximum  Profit  and  Output 

Quantity can be found out easily . These Methods to find out the Equilibrium of a Firm can be used in 

All Types of Markets ..  .:   

 
 

 

 

Q 30. l k[ k fu; U=k.k ds fdUgha r hu ek=kkRed mi k; ksa dks foLr kj  l s l e>kb; sA 

Explain  Broadly  any  THREE  Quantitative  Methods  of  Credit  Control . 

OR 

l k[ k fu; U=k.k ds fdUgha r hu xq.kkRed mi k; ksa dks foLr kj  l s l e>kb; sA 

Explain  Broadly  any  THREE  Qualitative  Methods  of  Credit  Control .  

            [ 6 Marks ] 
Ans.   

 l k[ k fu; U=k.k ds ek=kkRed mi k;  :  

bu  mi k; ksa  l s  i zR; {k  : i   l s  dqy  l k[ k  dh  ek=kk  i j   i zHkko  i M+r k  gSA  ; s  mi k;   dsoy  l k[ k  dh  ek=kk  i j   fo' ks"k  i j  

/; ku  nsr s  gS u  fd  l k[ k  dh  fn' kk  i j A  t c  ns' k  dh vFkZO; oLFkk  esa  eqnzk  dh  r j yr k  dh  ek=kk  dk  vkf/kD;   vFkok  deh 

gks  t kr h  gS  r ks  dsUnzh;   cSad  l k[ k  dh  ek=kk  , oa  ykxr   dks  fu; af=kr   dj us  ds  fy,   ft u  mi k; ks  dks  vi ukr k  gS  mUgsa 

ek=kkRed ; k i fj .kkekRed mi k;  dgk t kr k gSA 
 

(i) cSad  nj   uhfr  : ÞcSad  nj   og  gS]  ft l   nj   i j   dsUnzh;   cSad  vi us  O; ki kfj d  cSadksa  dks  _ .k  mi yC/k  dj okr k 

gSAÞ  cSad  nj   og  nj   ft l   i j   dsUnzh;   cSad  O; ki kfj d  cSadksa  ds  fofue;   fcyksa  dh  i quZdVkSr h  dj r k  gS Hkkj r   esa 

; g  dk; Z  Hkkj r h;   fj t oZ  cSad  } kj k  fd; k  t kr k  gSA  t c  ns' k  esa l k[ k  dh  ek=kk  de  dj uh  gksr h  gS r c  dsUnzh;  

cSad ĉSad nj ̂ dks c<+k nsr h gSA bl ds foi fj r  l k[ k dk foLr kj  dj us ds fy,  cSad nj  ?kVk nh t kr h gSA 
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(ii) [ kqys ckt kj  dh fØ; k, ¡ : dsUnzh;  cSad } kj k l j dkj h i zfr Hkwfr ; ksa dks [ kj hnus o cspus dh fØ; k dks [ kqys ckt kj  

dh  fØ; k, as  dgk  t kr k  gSA  t c  vFkZO; oLFkk  esa  l k[ k  dh  ek=kk  de  dj uh  gksr h  gS]  r ks  dsUnzh;   cSad  vi us  i kl  

l afpr   i zfr Hkwfr ; ksa  dks  okf.kfT; d  cSadksa  dks  cspuk  ' kq:   dj   nsr k  gSA  bl ds  foi fj r   ; fn  dsUnzh;   cSad  l j dkj h 

i zfr Hkwfr ; ksa dks [ kj hnuk ' kq:  dj r h gS r ks cSadksa ds i kl  udn dks"kksa esa òf)  gks t kr h gSA bl l s vFkZO; oLFkk esa 

l k[ k dk foLr kj  gksr k gSA 
 

(iii) udn  dks"kkuqi kr   o  oS/kkfud  r j yr kuqi kr   esa  i fj or Zu : ÞO; ki kfj d  cSadksa  } kj k  vi uh  t ekvksa  dk  , d  fuf' pr  

vuqi kr   /kuj kf' k  ds  : i   esa  dsUnzh;   cSad  ds  i kl   j [ kuk  vfuok; Z  gksr k  gS]  ft l s  oS/kkfud  r j yr kuqi kr   dgr s 

gSA  ÞcSafdax  fo/kku  ds  vuql kj   cSadksa  dks  vi uh  dqy  l Ei fÙk  dk  , d  fuf' pr   vuqi kr   vi us  i kl   r j y   ; k 

udn : i  esa j [ kuk vfuok; Z gksr k gS] ft l s udn dks"kkuqi kr  (CRR) dgr s gSA t c dsUnzh;  cSad dks l k[ k dk 

foLr kj   dj uk  gksr k  gSS  r ks  mDr   nksuksa  vuqi kr ksa  dks  de  dj   fn; k  t kr k  gS  , oa  bl ds  foi fj r   t c  l k[ k  dk 

l adqpu ; k deh dj uh gksr h gS r ks mDr  vuqi kr ksa esa òf)  dj  nh t kr h gSA 
 

vFkok 

l k[ k fu; U=k.k ds xq.kkRed mi k;  :      
 

dsUnzh;   cSad  } kj k  l k[ k  fu; a=k.k  gsr w  xq.kkRed  mi k;   Hkh  vi uk; s  t kr s  gS  ft udk  mís' ;   vFkZO; oLFkk  ds  fof' k"V  {ks=k  esa 

l k[ k  dks  l hfer   dj us  dk  gksr k  gSA  l k[ k  dk  i zokg  vuqRi knd  l s  mRi knd  {ks=k  dh  r j Q  dj us  ds  fy,   p; ukRed 

l k[ k fu; a=k.k j hfr ; ksa } kj k fd; k t kr k gSA   
 

(i) p; ukRed  l k[ k  fu; a=k.k – dsUnzh;   cSad  } kj k  fof' k"V  {ks=kkas  , oa  fof' k"V  vko' ; dr k  okys  l ewgksa  ds  fy; s 

p; ukRed l k[ k ds fu; a=k.k ds mi k;  vi uk; s t kr s gS] t ks bl  i zdkj  gS % 
 

   _ .k dh l hekvksa esa i fj or Zu dj ukA 


fofue;  fcyksa dh C; kt  nj ksa@dVkSr h nj ksa esa fHkUur k j [ kukA 
 

  fof' k"V {ks=kkas esa _ .kksa dh t k¡p o fu; a=k.kA 
 

     foykfl r k i w.kZ oLr qvksa ds _ .k dh vyx l s fdLr  fu/kkZj .k dj ukA 
 

(ii) l k[ k  dh  j k' kfuax – bl ds  vUr xZr   dsUnzh;   cSad  ds  } kj k  fHkUu&fHkUu  {ks=kksa  ds  fy,   l k[ k  dh  j k' kfuax 

¼vf/kdr e  l hek  fu/kkZj .k½  dj   nh  t kr h  gSA  ; g  l hek  cSad  ds  vuql kj   vyx&vyx  fu/kkZfj r   dh  t k  l dr h 

gSSA t Sl s 

fdl h cSad ds fy,  fcyksa dks i qu% Hkqukus dh l qfo/kk dks l hfer  dj  nsukA 

     l Hkh cSadksa ds fy,  fcyksa dks i qu% Hkqukus dh l qfo/kk dks l hfer  dj  nsukA 

cSadksa } kj k fofHkUu m| ksxksa vFkok O; ol k; ksa dks fn; s t kus okys _ .k dh l hek vFkok 

    dksVk fuf' pr  dj  nsukA 
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 (iii) uSfr d  ncko – bl ds  vUr xZr   dsUnzh;   cSad  O; ki kfj d  cSadksa  dks  l ykg  o  ekxZ  n' kZu  i znku  dj r k  gs  vkSj  

dsUnzh;  cSad vi us v/khuLFk O; ki kfj d cSadksa dks l n~Hkko o uSfr d vuqu;  l s Hkh vi uh l k[ k fu; af=kr  dj us ds 

fy,  ncko cuk l dr k gSA   

 
THREE  Quantitative  Methods  of  Credit  Control are : 

(i) Open Market Operations :   
Open Market Operations refer to the Sale and Purchase of Government Securities in the Open Market 

by  the  Central  bank  .  If  Central  Bank  Sales  the  Securities  of  Government  then  the  deposits  of 

commercial bank decreases and due to that the credit creation ability of the commercial banks will also 

decreases.  Thus,  the  credit  creation  by  the  commercial  banks  will  also  decreases.  If  central  bank 

purchases the securities of government from the open market then the deposits of commercial bank 

increases and due to that the credit creation ability of the commercial banks will also increases. Thus, 

the credit creation by the commercial banks will also increases. 

 In  the  condition  of  inflation in  the  economy central  bank  sales  the Government  securities  and in  the 

condition of deflation in the economy central bank purchases the Government securities to control the 

problems. 
 

(ii) Statutory Liquidity Ratio :   

Statutory Liquidity Ratio refers to the minimum percentage of a bank deposits which is required to kept 

with themselves in cash. This ratio is determined by the central bank.  

If  central  bank  increases  the  SLR  then  commercial  banks  has  to  keep  more  percentage  of  their 

deposits  with  themselves,  which  means  their  credit  creation  ability  will  decreases.  Thus  the  credit 

creation by the commercial banks will also decreases.  

 If  central  bank  decreases  the  SLR  then  commercial  banks  has  to  keep  less  percentage  of  their 

deposits  with  themselves,  which  means  their  credit  creation  ability  will  increases.  Thus  the  credit 

creation by the commercial banks will also increases. 

 In  the  condition  of  inflation  in  the  economy  central  bank  increases  the  SLR  and  in  the  condition  of 

deflation in the economy central bank decreases the SLR to control the problems. 

 

(iii) Cash Reserve Ratio :   

 Cash  Reserve  Ratio refers  to  the minimum  percentage  of  a  bank  deposits  which is  required  to kept 

with  the  central  bank  .  All  the  commercial  banks  have  to  keep  with  the  central  bank  a  certain 

percentage of their deposits in the form of minimum cash reserve ratio. This ratio is determined by the 

central bank . 

If  central  bank  increases  the  CRR  then  commercial  banks  has  to  keep  more  percentage  of  their 

deposits with central bank, which means that their credit creation ability will decreases. Thus the credit 

creation by the commercial banks will also decreases.  

 If  central  bank  decreases  the  CRR  then  commercial  banks  has  to  keep  less  percentage  of  their 

deposits with central bank, which means that their credit creation ability will increases. Thus the credit 

creation by the commercial banks will also increases. 
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 In  the  condition  of  inflation  in  the  economy  central  bank  increases  the  CRR  and  in  the  condition  of 

deflation in the economy central bank decreases the CRR to control the problems.  

 

OR 
Qualitative measures  includes  those  measures  of  central  bank  which  controls  the  direction  of  credit 

creation in economy. They are also termed as selective measures. It includes : 

(i) Margin  Requirement  : The difference between the value of security and the amount of loan 

sanctioned  is  known  as  margin  requirement.  By  changing  the  margin  requirement  Central 

bank can increase or decrease the credit creation in desired directions. If Central bank wants 

to increase the credit in a particular use then it will decrease the margin requirement for that 

use. 
 

(ii) Consumer  Credit  : Loans  given  by  commercial  banks  to  the  consumers  to  purchase  the 

durable consumer goods, are known-as consumer’s credit. Central bank can make the loans 

attractive or unattractive by following way :- (a) By changing the minimum down payments, (b) 

By changing the maximum period of repayment. (installment)  
 

(iii) Differentiated  Rate  of  Interest  : Central bank can decide different interst rates for different 

uses to affect the direction of credit. Central bank will increase the rate of interst for those uses 

where  it  wants  to  discourage  the  credit  and  will  decrease  the  rate  of  interst  for  those  uses 

where it wants to encourage the credit.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


